Department Information		Number	of Stu	dents:			Resp	onse Key	·:	
S_Lev: 100 & 200 Level Cours Dept: AGRICULTURAL & BIOSYS Frequencies (top row) and percen S.D. is the Standard Deviation a	TEMS ENG # Shee ts (bott	ets Scan	You You are po	our Deprour Coli	t lege to the	right of	A= N= D= SD=	N Di Strongly	Agree . Agree . Jeutral . Sagree . Disagree	(4) (3) (2)
Please rate the following:	SD	D	N	A	SA	OMIT	AREA	MEAN	S.D.	#R
1. This instructor provided well-defined course objectives.	0 0.0	0 0.0	0 0.0	2 50.0	2 50.0	0	Class Department College University	4.500 4.322 4.467	0.577 0.869 0.790 0.900	8 284 2233
 This instructor provided content and materials that were clear and well organized. 	0.0	0.0	0.0	1 25.0	3 75.0	0.0	Class Department College University	4.410	0.500 0.999 0.864 1.018	8' 284' 2232
3. I understood how my grades were assigned in this course.	0.0	0.0	0.0	2 50.0	2 50.0	0.0	Class Department College University	4.515	0.577 0.957 0.784 0.890	8 284 2231
 I met or exceeded the course objectives given for this course. 	0.0	0.0	0.0	2 50.0	2 50.0	0.0	Class Department College University	4.337	0.577 0.878 0.824 0.860	8 284 2231
5. The instructor was available to assist students outside of class.	0.0	0.0	0.0	2 50.0	2 50.0	0.0	Class Department College University	4.406	0.577 0.924 0.844 0.924	8 284 2229
6. The instructor provided feedback to me in a timely manner.	0.0	0.0	0.0	1 25.0	3 75.0	0.0	Class Department College University	4.311	0.500 0.870 0.947 1.018	8 284 2231
7. The instructor provided relevant feedback that helped me learn.	0.0	0.0	0.0	1 25.0	3 75.0	0.0	Class Department College University	4.344	0.500 0.916 0.923 1.043	8 284 2230
8. The instructor set and maintained high standards that students must meet.	0	0.0	0.0	1 25.0	3 75.0	0.0	Class Department College University	4.469	0.500 0.825 0.769 0.874	8 284 2230
9. The physical environment was conducive to learning.	0.0	0	0	2 50.0	2 50.0	0	Class Department College University	4.422	0.577 0.819 0.875 1.017	8 284 2228

Depar	tment Information		Number	of Stu	dents:			Resp	onse Key	·:	
	Lev: 300 & 400 Level Course Dept: AGRICULTURAL & BIOSYST	EMS ENG # Shee	ets Scar	Y	our Dep our Col	t lege		A= N= D= SD=	N Di Strongly	Agree . Agree . Jeutral . Sagree . Disagree	(4) (3) (2)
S.D.	encies (top row) and percent is the Standard Deviation an e e rate the following:							each question.	MEAN	S.D.	 #R
1. This	instructor provided -defined course ctives.	0.0	0.0	8 13.3	23 38.3	29 48.3	0.0	Class Department College University	4.467	0.709 0.869 0.790 0.900	2848 22330
cont	instructor provided ent and materials that clear and well organized.	1.7	2 3.3	5 8.3	23 38.3	29 48.3	0.0	Class Department College University	4.410	0.885 0.999 0.864 1.018	60 87 2847 22329
	derstood how my grades assigned in this course.	0.0	4 6.7	3 5.0	19 31.7	34 56.7	0	Class Department College University	4.515	0.865 0.957 0.784 0.890	60 87 284 2231
obje	t or exceeded the course ctives given for course.	0	1	7	26 43.3	26 43.3	0	Class Department College University	4.337	0.739 0.878 0.824 0.860	60 87 2845 22312
to a	instructor was available ssist students outside lass.	1 1.7	1	4 6.7	21 35.0	33 55.0	0	Class Department College University	4.406	0.827 0.924 0.844 0.924	60 81 284 2229
	instructor provided back to me in a timely er.	1.7	0.0	2 3.3	27 45.0	30 50.0	0.0	Class Department College University	4.311	0.720 0.870 0.947 1.018	60 87 284 2231
rele	instructor provided vant feedback that ed me learn.	1 1.7	1	4 6.7	23 38.3	31 51.7	0	Class Department College University	4.344	0.823 0.916 0.923 1.043	284 2230
main	instructor set and tained high standards students must meet.	0.0	0.0	5 8.3	25 41.7	30 50.0	0	Class Department College University	4.469	0.645 0.825 0.769 0.874	60 81 2843 22303
	physical environment was ucive to learning.	0.0	0.0	5 8.3	27 45.0	28 46.7	0.0	Class Department College University	4.422	0.640 0.819 0.875 1.017	60 87 2843 2228

Department Information		Number	of Stud	dents:			Resp	onse Key	·:	
S_Lev: 600, 700 & 800 Level (Dept: AGRICULTURAL & BIOSYS1 Frequencies (top row) and percent	EMS ENG # Shee	ets Scan	Yo	our Dep	lege		A= N= D= SD=	N Di Strongly	Agree . Agree . Jeutral . sagree . Disagree	(4) (3) (2)
S.D. is the Standard Deviation ar Please rate the following:	nd #R is SD	the Nu D	mber o: N	f Valid A	Respons SA	Ses. OMIT	AREA	MEAN	S.D.	#R
This instructor provided well-defined course objectives.	2 8.7	1 4.3	0.0	7 30.4	13 56.5	0.0	Class Department College University	4.217 4.322 4.467	1.242 0.869 0.790 0.900	23 87 2848 22330
This instructor provided content and materials that were clear and well organized.	2 8.7	1 4.3	2 8.7	3 13.0	15 65.2	0.0	Class Department College University	4.410	1.313 0.999 0.864 1.018	23 87 2847 22329
3. I understood how my grades were assigned in this course.	2 8.7	0.0	2 8.7	2 8.7	17 73.9	0.0	Class Department College University	4.515	1.234 0.957 0.784 0.890	23 87 2847 22314
4. I met or exceeded the course objectives given for this course.	2 8.7	0.0	2 8.7	4 17.4	15 65.2	0.0	Class Department College University	4.337	1.222 0.878 0.824 0.860	23 87 2845 22312
5. The instructor was available to assist students outside of class.	2 8.7	0.0	1 4.3	1 4.3	19 82.6	0.0	Class Department College University	4.406	1.201 0.924 0.844 0.924	23 87 2845 22297
6. The instructor provided feedback to me in a timely manner.	2 8.7	0.0	2 8.7	3 13.0	16 69.6	0.0	Class Department College University	4.311	1.229 0.870 0.947 1.018	23 87 2847 22310
7. The instructor provided relevant feedback that helped me learn.	2 8.7	0.0	1 4.3	6 26.1	14 60.9	0.0	Class Department College University	4.344	1.185 0.916 0.923 1.043	23 87 2846 22308
8. The instructor set and maintained high standards that students must meet.	2 8.7	0.0	2 8.7	6 26.1	13 56.5	0.0	Class Department College University	4.469	1.204 0.825 0.769 0.874	23 87 2843 22303
9. The physical environment was conducive to learning.	2 8.7	0.0	2 8.7	6 26.1	13 56.5	0.0	Class Department College University	4.422	1.204 0.819 0.875 1.017	23 87 2843 22284

Department Infor	mation		Number	of Stu	dents:			Resp	onse Key	·:	
Dept: AGRIC	200 Level Course	# Shee		Y		t lege		A= N= D= SD=	N Di Strongly	Agree . Agree . Jeutral . sagree . Disagree	(4) (3) (2)
	row) and percent dard Deviation ar							each question.			
Please rate the		SD	D	N 	A ======	SA	OMIT	AREA	MEAN	S.D.	#R =======
1. This instructor well-defined coobjectives.		3.7	3.7	10 9.3	48 44.4	42 38.9	0.0	Class Department College University	4.467	0.980 0.966 0.790 0.900	108 262 2848 22330
2. This instructor content and mat were clear and		3 2.8	4 3.7	11 10.2	44 40.7	46 42.6	0.0	Class Department College University	4.410	0.952 1.002 0.864 1.018	108 261 2847 22329
3. I understood ho were assigned i		1	6 5.6	10 9.3	40 37.0	51 47.2	0.0	Class Department College University	4.515	0.906 0.978 0.784 0.890	108 262 2847 22314
4. I met or exceed objectives give this course.		0.0	5 4.6	25 23.1	51 47.2	27 25.0	0.0	Class Department College University	4.337	0.817 0.797 0.824 0.860	108 262 2845 22312
5. The instructor to assist stude of class.		2 1.9	7 6.5	19 17.6	49 45.4	31 28.7	0.0	Class Department College University	4.406	0.944 0.936 0.844 0.924	108 261 2845 22297
6. The instructor feedback to me manner.		9	9 8.3	26 24.1	35 32.4	29 26.9	0.0	Class Department College University	4.311	1.206 1.148 0.947 1.018	108 262 2847 22310
7. The instructor relevant feedba	ck that	6 5.6	7 6.5	33 30.6	28 25.9	34 31.5	0.0	Class Department College University	4.344	1.144 1.094 0.923 1.043	108 262 2846 22308
8. The instructor maintained high that students m	standards	0	5 4.6	12 11.1	46 42.6	45 41.7	0.0	Class Department College University	4.469	0.821 0.879 0.769 0.874	108 262 2843 22303
9. The physical en		3 2.8	5 4.6	16 14.8	41 38.0	43 39.8	0.0	Class Department College University	4.422	0.993 0.990 0.875 1.017	108 261 2843 22284

	Department Information		Number	of Stu	dents:			Resp	onse Key	:	
	S_Lev: 300 & 400 Level Courses Dept: AGRICULTURAL ECONOMICS Frequencies (top row) and percents	# Shee	om row)	Y Y are p	rovided	t lege to the	right of	A= N= D= SD=	N Di Strongly	Agree . Agree . Geutral . sagree . Disagree	(4) (3) (2)
	S.D. is the Standard Deviation and Please rate the following:	#R is SD	the Nu	ımber o N	f Valid A	Respons SA	es. OMIT	AREA	MEAN	S.D.	#R
	. This instructor provided well-defined course objectives.	3 2.1	5 3.5	15 10.4	39 27.1	77 53.5	5 3.5	Class Department College University	4.309 4.252 4.467	0.954 0.966 0.790 0.900	139 262 2848 22330
2.	This instructor provided content and materials that were clear and well organized.	4 2.8	8 5.6	19 13.2	34 23.6	73 50.7	6 4.2	Class Department College University	4.410	1.064 1.002 0.864 1.018	138 261 2847 22329
3.	. I understood how my grades were assigned in this course.	5 3.5	4 2.8	19 13.2	30 20.8	81 56.3	5 3.5	Class Department College University	4.515	1.043 0.978 0.784 0.890	139 262 2847 22314
4.	. I met or exceeded the course objectives given for this course.	1	1	15 10.4	58 40.3	64 44.4	5 3.5	Class Department College University	4.337	0.752 0.797 0.824 0.860	139 262 2845 22312
5.	. The instructor was available to assist students outside of class.	4 2.8	1	12 8.3	40 27.8	81 56.3	6 4.2	Class Department College University	4.406	0.900 0.936 0.844 0.924	138 261 2845 2229
6.	The instructor provided feedback to me in a timely manner.	5 3.5	5 3.5	21 14.6	33 22.9	75 52.1	5 3.5	Class Department College University	4.311	1.060 1.148 0.947 1.018	13: 26: 284: 2231:
7.	The instructor provided relevant feedback that helped me learn.	4 2.8	5 3.5	18 12.5	38 26.4	74 51.4	5 3.5	Class Department College University	4.344	1.006 1.094 0.923 1.043	139 262 2846 22308
8.	. The instructor set and maintained high standards that students must meet.	4 2.8	2	15 10.4	37 25.7	81 56.3	5 3.5	Class Department College University	4.469	0.940 0.879 0.769 0.874	139 262 2843 22303
9.	. The physical environment was conducive to learning.	4 2.8	6	11 7.6	32 22.2	85 59.0	6 4.2	Class Department College University	4.422	1.003 0.990 0.875 1.017	138 263 2843 2228

Department Information		Number	of Stud	dents:			Resp	onse Key	·:	
S Lev: 600, 700 & 800 Level C Dept: AGRICULTURAL ECONOMICS Frequencies (top row) and percent	# Shee	ts Scan	Y	our Dept	t lege		A= N= D= SD=	N Di Strongly	Agree . Agree . Jeutral . Sagree . Disagree	(4) (3) (2)
S.D. is the Standard Deviation an							AREA	MEAN	S.D.	 #R
This instructor provided well-defined course objectives.	0.0	1 6.7	0.0	1 6.7	13 86.7	0.0	Class Department College University	4.467	0.799 0.966 0.790 0.900	15 262 2848 22330
This instructor provided content and materials that were clear and well organized.	0	0.0	0.0	1 6.7	14 93.3	0.0	Class Department College University	4.410	0.258 1.002 0.864 1.018	15 261 2847 22329
3. I understood how my grades were assigned in this course.	0.0	1 6.7	0.0	2 13.3	12 80.0	0.0	Class Department College University	4.515	0.816 0.978 0.784 0.890	15 262 2847 22314
4. I met or exceeded the course objectives given for this course.	0.0	0.0	0.0	5 33.3	10 66.7	0.0	Class Department College University	4.337	0.488 0.797 0.824 0.860	15 262 2845 22312
5. The instructor was available to assist students outside of class.	0	0	0.0	3 20.0	12 80.0	0.0	Class Department College University	4.406	0.414 0.936 0.844 0.924	15 261 2845 22297
6. The instructor provided feedback to me in a timely manner.	0	0	0.0	4 26.7	11 73.3	0.0	Class Department College University	4.311	0.458 1.148 0.947 1.018	15 262 2847 22310
7. The instructor provided relevant feedback that helped me learn.	0	1 6.7	0.0	2 13.3	12 80.0	0.0	Class Department College University	4.344	0.816 1.094 0.923 1.043	15 262 2846 22308
8. The instructor set and maintained high standards that students must meet.	0.0	0	0.0	2 13.3	13 86.7	0.0	Class Department College University	4.469	0.352 0.879 0.769 0.874	15 262 2843 22303
9. The physical environment was conducive to learning.	0.0	0.0	0.0	4 26.7	11 73.3	0.0	Class Department College University	4.422	0.458 0.990 0.875 1.017	15 261 2843 22284

Department Informati	on	Nu	mber of	Stud	ents:			Resp	onse Key:		
S_Lev: 100 & 200 Dept: ANIMAL SC Frequencies (top row	IENCE #			Yo Yo		ege		A= N= D= SD=	Ne Dis Strongly	Agree utral agree	. (4) . (3) . (2)
S.D. is the Standard			he Numb	er of N	Valid A	Respons	es. 	AREA	MEAN	 S.D.	#R
This instructor pro well-defined course objectives.	vided	0	0 0.0	5 2.9	52 30.2	114 66.3	1	Class Department College University	4.467	0.540 0.610 0.790 0.900	171 367 2848 22330
This instructor pro content and materia were clear and well	ls that 0	0	5 2.9	5 2.9	54 31.4	107 62.2	0.6	Class Department College University	4.410	0.697 0.737 0.864 1.018	171 367 2847 22329
3. I understood how my were assigned in th		0	0	2	53 30.8	116 67.4	1 0.6	Class Department College University	4.515	0.497 0.581 0.784 0.890	171 367 2847 22314
 I met or exceeded to objectives given fo this course. 		1	3 1.7	11 6.4	64 37.2	92 53.5	1 0.6	Class Department College University	4.337	0.742 0.692 0.824 0.860	171 367 2845 22312
5. The instructor was to assist students of class.		0	4 2.3	14 8.1	51 29.7	102 59.3	1 0.6	Class Department College University	4.406	0.746 0.712 0.844 0.924	171 367 2845 22297
6. The instructor prov feedback to me in a manner.		3 .7	3 1.7	8 4.7	62 36.0	95 55.2	1 0.6	Class Department College University	4.311	0.811 0.894 0.947 1.018	171 367 2847 22310
7. The instructor prov relevant feedback t helped me learn.		0	4 2.3	9 5.2	54 31.4	104 60.5	1 0.6	Class Department College University	4.344	0.706 0.778 0.923 1.043	171 367 2846 22308
8. The instructor set maintained high sta that students must	ndards 0	0	1	7 4.1	53 30.8	110 64.0	1	Class Department College University	4.469	0.601 0.603 0.769 0.874	171 367 2843 22303
9. The physical enviro conducive to learni		0	4 2.3	8 4.7	48 27.9	111 64.5	0.6	Class Department College University	4.422	0.695 0.720 0.875 1.017	171 367 2843 22284

Department Information		Number	of Stud	dents:			Resp	onse Key	·:	
S_Lev: 300 & 400 Level Course Dept: ANIMAL SCIENCE	# Shee	ts Scan	Yo	our Dep	t lege		A= N= D= SD=	N Di Strongly	Agree . Agree . Jeutral . sagree . Disagree	(4)(3)(2)
Frequencies (top row) and percent S.D. is the Standard Deviation an							each question.			
Please rate the following:	SD	D	N	A	SA	OMIT	AREA	MEAN	S.D.	#R
This instructor provided well-defined course objectives.	0.0	4 2.1	8 4.3	43 23.0	132 70.6	0	Class Department College University	4.467	0.672 0.610 0.790 0.900	187 367 2848 22330
This instructor provided content and materials that were clear and well organized.	3 1.6	3 1.6	73.7	45 24.1	129 69.0	0.0	Class Department College University	4.410	0.782 0.737 0.864 1.018	187 367 2847 22329
3. I understood how my grades were assigned in this course.	0.0	4 2.1	5 2.7	44 23.5	134 71.7	0	Class Department College University	4.515	0.642 0.581 0.784 0.890	187 367 2847 22314
 I met or exceeded the course objectives given for this course. 	0.0	1 0.5	13 7.0	61 32.6	112 59.9	0.0	Class Department College University	4.337	0.650 0.692 0.824 0.860	187 367 2845 22312
5. The instructor was available to assist students outside of class.	1 0.5	2 1.1	9 4.8	50 26.7	125 66.8	0	Class Department College University	4.406	0.686 0.712 0.844 0.924	187 367 2845 22297
6. The instructor provided feedback to me in a timely manner.	4 2.1	10 5.3	13 7.0	52 27.8	108 57.8	0.0	Class Department College University	4.311	0.972 0.894 0.947 1.018	187 367 2847 22310
7. The instructor provided relevant feedback that helped me learn.	3 1.6	3 1.6	16 8.6	46 24.6	119 63.6	0	Class Department College University	4.344	0.844 0.778 0.923 1.043	187 367 2846 22308
8. The instructor set and maintained high standards that students must meet.	0.0	1 0.5	8 4.3	48 25.7	130 69.5	0	Class Department College University	4.469	0.591 0.603 0.769 0.874	187 367 2843 22303
9. The physical environment was conducive to learning.	1	4 2.1	11 5.9	40 21.4	131 70.1	0	Class Department College University	4.422	0.746 0.720 0.875 1.017	187 367 2843 22284

Department Information		Number	of Stu	dents:			Resp	onse Key	·:	
S_Lev: 600, 700 & 800 Level C Dept: ANIMAL SCIENCE	# Shee		Y		t lege		A= N= D= SD=	N Di Strongly	Agree . Agree . Jeutral . Sagree . Disagree	(4) (3) (2)
Frequencies (top row) and percent S.D. is the Standard Deviation an	d #R is	the Nu	umber o	f Valid	Respons	es.				
Please rate the following: 1. This instructor provided well-defined course objectives.	SD 0 0.0	0 0.0	0 0.0	A ======= 5 55.6	SA 4 44.4	OMIT 0 0.0	AREA Class Department College University	4.467	S.D. 0.527 0.610 0.790 0.900	#R 9 367 2848 22330
This instructor provided content and materials that were clear and well organized.	0.0	0.0	0.0	5 55.6	44.4	0.0	Class Department College University	4.410	0.527 0.737 0.864 1.018	9 367 2847 22329
3. I understood how my grades were assigned in this course.	0.0	0.0	1 11.1	3 33.3	5 55.6	0.0	Class Department College University	4.515	0.726 0.581 0.784 0.890	9 367 2847 22314
4. I met or exceeded the course objectives given for this course.	0.0	0.0	0.0	6 66.7	3 33.3	0.0	Class Department College University	4.337	0.500 0.692 0.824 0.860	9 367 2845 22312
5. The instructor was available to assist students outside of class.	0.0	0.0	0.0	2 22.2	7 77.8	0.0	Class Department College University	4.406	0.441 0.712 0.844 0.924	9 367 2845 22297
6. The instructor provided feedback to me in a timely manner.	0.0	0.0	1 11.1	3 33.3	5 55.6	0.0	Class Department College University	4.311	0.726 0.894 0.947 1.018	9 367 2847 22310
7. The instructor provided relevant feedback that helped me learn.	0.0	0.0	1 11.1	2 22.2	6 66.7	0.0	Class Department College University	4.344	0.726 0.778 0.923 1.043	9 367 2846 22308
8. The instructor set and maintained high standards that students must meet.	0	0.0	2 22.2	2 22.2	5 55.6	0.0	Class Department College University	4.469	0.866 0.603 0.769 0.874	9 367 2843 22303
9. The physical environment was conducive to learning.	0.0	0.0	1 11.1	2 22.2	6 66.7	0.0	Class Department College University	4.422	0.726 0.720 0.875 1.017	9 367 2843 22284

Department Information			of Stud	dents:			Resp	onse Key	':	
S_Lev: 100 & 200 Level Cours Dept: AGRICULTURAL SYSTEM N Frequencies (top row) and percer S.D. is the Standard Deviation a	ses MANAGEME # She	NT ets Sca: tom row	Yo Yo) are p:	our Dep our Col rovided	t lege to the	right of	A= N= D= SD=	N Di Strongly	Agree . Agree . Jeutral . Sagree . Disagree	(4) (3) (2)
Please rate the following:	SD	D	N	A	SA	OMIT	AREA	MEAN	S.D.	#R
1. This instructor provided well-defined course objectives.	2 12.5	1 6.3	5 31.3	6 37.5	2 12.5	0	Class Department College University	3.313 4.306 4.467	1.195 1.001 0.790 0.900	2848 22330
 This instructor provided content and materials that were clear and well organized. 	2 12.5	1 6.3	4 25.0	7 43.8	2 12.5	0.0	Class Department College University	4.410	1.204 0.988 0.864 1.018	16 62 284 22329
3. I understood how my grades were assigned in this course.	2 12.5	4 25.0	4 25.0	3 18.8	3 18.8	0.0	Class Department College University	4.515	1.340 1.062 0.784 0.890	284 2231
 I met or exceeded the course objectives given for this course. 	0.0	0.0	5 31.3	7 43.8	4 25.0	0.0	Class Department College University	4.337	0.772 0.645 0.824 0.860	284 2231
5. The instructor was available to assist students outside of class.	0.0	3 18.8	5 31.3	6 37.5	2 12.5	0.0	Class Department College University	4.406	0.964 0.854 0.844 0.924	1 6 284 2229
6. The instructor provided feedback to me in a timely manner.	2 12.5	4 25.0	3 18.8	5 31.3	2 12.5	0.0	Class Department College University	4.311	1.289 1.074 0.947 1.018	1 6 284 2231
7. The instructor provided relevant feedback that helped me learn.	1 6.3	1 6.3	7 43.8	5 31.3	2 12.5	0	Class Department College University	4.344	1.025 0.891 0.923 1.043	284 2230
8. The instructor set and maintained high standards that students must meet.	1 6.3	0.0	7 43.8	6 37.5	2 12.5	0	Class Department College University	4.469	0.966 0.927 0.769 0.874	1 6 284 2230
9. The physical environment was conducive to learning.	1 6.3	0.0	3 18.8	7 43.8	5 31.3	0	Class Department College University	4.422	1.063 0.743 0.875 1.017	1 6 284 2228

Department Information		Number	of Stu	dents:			Resp	onse Key	:	
S_Lev: 300 & 400 Level Cours Dept: AGRICULTURAL SYSTEM M Frequencies (top row) and percen S.D. is the Standard Deviation a	ANAGEMEN # Shee	om row)	You You are po	rovided	to the	right of	A= N= D= SD=	N Di Strongly	Agree . Agree . eutral . sagree . Disagree	(4) (3) (2)
Please rate the following:	SD	D	N	A	SA	OMIT	AREA	MEAN	S.D.	#R
1. This instructor provided well-defined course objectives.	0 0.0	1 2.1	1 2.1	11 23.4	33 70.2	1 2.1	Class Department College University	4.652 4.306 4.467	0.640 1.001 0.790 0.900	2841 22331
 This instructor provided content and materials that were clear and well organized. 	0.0	1 2.1	1 2.1	11 23.4	33 70.2	1 2.1	Class Department College University	4.410	0.640 0.988 0.864 1.018	4 62 284 2232
3. I understood how my grades were assigned in this course.	0.0	0.0	0.0	13 27.7	33 70.2	1 2.1	Class Department College University	4.515	0.455 1.062 0.784 0.890	284 2231
 I met or exceeded the course objectives given for this course. 	0.0	0.0	0.0	11 23.4	35 74.5	1 2.1	Class Department College University	4.337	0.431 0.645 0.824 0.860	284 2231
5. The instructor was available to assist students outside of class.	0.0	0.0	1 2.1	12 25.5	33 70.2	1 2.1	Class Department College University	4.406	0.511 0.854 0.844 0.924	4 6: 284 2229
6. The instructor provided feedback to me in a timely manner.	0.0	0.0	2 4.3	10 21.3	34 72.3	1 2.1	Class Department College University	4.311	0.553 1.074 0.947 1.018	4 6 284 2231
7. The instructor provided relevant feedback that helped me learn.	0.0	0.0	1 2.1	11 23.4	34 72.3	1 2.1	Class Department College University	4.344	0.502 0.891 0.923 1.043	4 6: 284 2230
8. The instructor set and maintained high standards that students must meet.	1 2.1	0	0.0	11 23.4	34 72.3	1 2.1	Class Department College University	4.469	0.701 0.927 0.769 0.874	4 6 284 2230
9. The physical environment was conducive to learning.	0.0	0	0	11 23.4	34 72.3	2 4.3	Class Department College University	4.422	0.435 0.743 0.875 1.017	4 6 284 2228

Department Information		Number	of Stu	dents:			Resp	oonse Key	7:	
S Lev: 300 & 400 Level Course Dept: CEREAL & FOOD SCIENCES Frequencies (top row) and percent	# She	ets Sca	Y Y	our Dep our Col	t lege		A= N= D= SD=	N Di Strongly	Agree . Agree . Jeutral . sagree . Disagree	(4) (3) (2)
S.D. is the Standard Deviation an	d #R i	s the N	umber o	f Valid	Respons	ses.				
Please rate the following:	SD	D =====	N =====	A =====	SA =====	OMIT	AREA	MEAN	S.D.	#R ======
 This instructor provided well-defined course objectives. 	0.0	1 5.3	0.0	9 47.4	9 47.4	0.0	Class Department College University	4.467	0.761 0.686 0.790 0.900	19 53 2848 22330
This instructor provided content and materials that were clear and well organized.	0.0	1 5.3	1 5.3	10 52.6	7 36.8	0.0	Class Department College University	4.410	0.787 0.633 0.864 1.018	19 54 2847 22329
3. I understood how my grades were assigned in this course.	0.0	1 5.3	1 5.3	10 52.6	7 36.8	0.0	Class Department College University	4.515	0.787 0.915 0.784 0.890	19 54 2847 22314
 I met or exceeded the course objectives given for this course. 	0.0	0.0	2 10.5	9 47.4	8 42.1	0.0	Class Department College University	4.337	0.671 0.588 0.824 0.860	19 54 2845 22312
5. The instructor was available to assist students outside of class.	0.0	1 5.3	1 5.3	11 57.9	6 31.6	0.0	Class Department College University	4.406	0.765 0.691 0.844 0.924	19 54 2845 22297
6. The instructor provided feedback to me in a timely manner.	0.0	3 15.8	0.0	8 42.1	7 36.8	1 5.3	Class Department College University	4.311	1.056 0.836 0.947 1.018	18 53 2847 22310
7. The instructor provided relevant feedback that helped me learn.	0.0	2 10.5	2 10.5	10 52.6	4 21.1	1 5.3	Class Department College University	4.344	0.900 0.788 0.923 1.043	18 53 2846 22308
8. The instructor set and maintained high standards that students must meet.	0.0	0.0	0.0	10 52.6	8 42.1	1 5.3	Class Department College University	4.469	0.511 0.657 0.769 0.874	18 53 2843 22303
9. The physical environment was conducive to learning.	0.0	1 5.3	1 5.3	7 36.8	9 47.4	1 5.3	Class Department College University	4.422	0.840 0.710 0.875 1.017	18 53 2843 22284

Department Information			of Stud	dents:			Resp	onse Key	<i>7</i> :	
S_Lev: 600, 700 & 800 Level (Dept: CEREAL & FOOD SCIENCES Frequencies (top row) and percent	Courses # Shee	ts Scar	nned: Th Yo Yo	our Dep	t lege		A= N= D= SD=	N Di Strongly	Agree . Agree . Jeutral . Sagree . Disagree	(4) (3) (2)
S.D. is the Standard Deviation ar	nd #R is	the Ni	umber of	f Valid A	Respons	ses. 	AREA	MEAN	S.D.	 #R
This instructor provided well-defined course objectives.		0 . 0		15 42.9	16 45.7	1 2.9	Class Department College University	4.382 4.377 4.467	0.652 0.686 0.790 0.900	
2. This instructor provided content and materials that were clear and well organized.	0	0.0	1 2.9	21 60.0	13 37.1	0.0	Class Department College University	4.410	0.539 0.633 0.864 1.018	35 54 2847 22329
3. I understood how my grades were assigned in this course.	1 2.9	2 5.7	1 2.9	13 37.1	18 51.4	0.0	Class Department College University	4.515	0.987 0.915 0.784 0.890	35 54 2847 22314
 I met or exceeded the course objectives given for this course. 	0.0	0.0	1 2.9	20 57.1	14 40.0	0.0	Class Department College University	4.337	0.547 0.588 0.824 0.860	35 54 2845 22312
 The instructor was available to assist students outside of class. 	0.0	0.0	2 5.7	10 28.6	23 65.7	0.0	Class Department College University	4.406	0.604 0.691 0.844 0.924	35 54 2845 22297
The instructor provided feedback to me in a timely manner.	0.0	0.0	4 11.4	14 40.0	17 48.6	0.0	Class Department College University	4.311	0.690 0.836 0.947 1.018	35 53 2847 22310
7. The instructor provided relevant feedback that helped me learn.	0	0.0	3 8.6	13 37.1	19 54.3	0	Class Department College University	4.344	0.657 0.788 0.923 1.043	35 53 2846 22308
8. The instructor set and maintained high standards that students must meet.	0	1 2.9	2 5.7	16 45.7	16 45.7	0	Class Department College University	4.469	0.725 0.657 0.769 0.874	35 53 2843 22303
9. The physical environment was conducive to learning.	0	0.0	3 8.6	16 45.7	16 45.7	0	Class Department College University	4.422	0.646 0.710 0.875 1.017	35 53 2843 22284

	Department Information		Number	of Stud	dents:			Resp	onse Key	·:	
	S_Lev: 100 & 200 Level Courses Dept: ECONOMICS		ets Scar	Y		el t lege	371 453 2866	N= N= A=	N Di	Agree . Agree . Jeutral . Sagree . Disagree	(4) (3) (2)
	Frequencies (top row) and percents S.D. is the Standard Deviation and							each question.			
	Please rate the following:	SD	D	N	A	SA	OMIT	AREA	MEAN	S.D.	#R
	This instructor provided well-defined course objectives.	2 0.5	6 1.6	31 8.4	135 36.4	195 52.6	2 0.5	Class Department College University	4.467	0.756 0.780 0.790 0.900	369 451 2848 22330
2.	This instructor provided content and materials that were clear and well organized.	3	14 3.8	27 7.3	134 36.1	191 51.5	2	Class Department College University	4.410	0.836 0.882 0.864 1.018	369 451 2847 22329
3.	I understood how my grades were assigned in this course.	4	6 1.6	29 7.8	114 30.7	215 58.0	3	Class Department College University	4.515	0.796 0.845 0.784 0.890	368 450 2847 22314
4.	I met or exceeded the course objectives given for this course.	3	12 3.2	58 15.6	152 41.0	143 38.5	3	Class Department College University	4.337	0.856 0.853 0.824 0.860	368 450 2845 22312
5.	The instructor was available to assist students outside of class.	6 1.6	15 4.0	73 19.7	120 32.3	155 41.8	2	Class Department College University	4.406	0.960 0.943 0.844 0.924	369 451 2845 22297
6.	The instructor provided feedback to me in a timely manner.	7 1.9	15 4.0	75 20.2	130 35.0	142 38.3	2	Class Department College University	4.311	0.960 0.981 0.947 1.018	369 451 2847 22310
7.	The instructor provided relevant feedback that helped me learn.	8 2.2	19 5.1	57 15.4	128 34.5	157 42.3	2	Class Department College University	4.344	0.986 1.028 0.923 1.043	369 451 2846 22308
8.	The instructor set and maintained high standards that students must meet.	4 1.1	5 1.3	28 7.5	147 39.6	185 49.9	2	Class Department College University	4.469	0.773 0.790 0.769 0.874	369 451 2843 22303
9.	The physical environment was conducive to learning.	6 1.6	10 2.7	42 11.3	111 29.9	200 53.9	2	Class Department College University	4.422	0.898 0.962 0.875 1.017	369 451 2843 22284

Department Information		Number	of Stud	dents:			Resp	onse Key	<i>7</i> :	
S_Lev: 300 & 400 Level (Dept: ECONOMICS Frequencies (top row) and pe	# Shee		Yo		t lege		A= N= D= SD=	N Di Strongly	Agree . Agree . Jeutral . Sagree . Disagree	(4) (3) (2)
S.D. is the Standard Deviati	ion and #R is SD	the Ni D	umber o: N	f Valid A	Respons SA	ses. OMIT	AREA	MEAN	S.D.	#R
1. This instructor provided well-defined course objectives.	0.0	1 1.6	5 7.8	15 23.4	43 67.2	0.0	Class Department College University	4.563 4.415 4.467	0.710 0.780 0.790 0.900	64 451 2848 22330
This instructor provided content and materials that were clear and well organiz		2 3.1	7 10.9	17 26.6	37 57.8	0.0	Class Department College University	4.410	0.915 0.882 0.864 1.018	64 451 2847 22329
3. I understood how my grades were assigned in this cours	1 se. 1.6	2 3.1	3 4.7	13 20.3	45 70.3	0.0	Class Department College University	4.515	0.853 0.845 0.784 0.890	64 450 2847 22314
 I met or exceeded the cours objectives given for this course. 	0 0.0	0.0	11 17.2	23 35.9	30 46.9	0.0	Class Department College University	4.337	0.749 0.853 0.824 0.860	64 450 2845 22312
The instructor was available to assist students outside of class.		1 1.6	5 7.8	16 25.0	42 65.6	0.0	Class Department College University	4.406	0.711 0.943 0.844 0.924	64 451 2845 22297
6. The instructor provided feedback to me in a timely manner.	0	4 6.3	5 7.8	20 31.3	35 54.7	0.0	Class Department College University	4.311	0.877 0.981 0.947 1.018	64 451 2847 22310
7. The instructor provided relevant feedback that helped me learn.	3 4.7	3 4.7	5 7.8	18 28.1	35 54.7	0.0	Class Department College University	4.344	1.095 1.028 0.923 1.043	64 451 2846 22308
8. The instructor set and maintained high standards that students must meet.	1 1.6	0.0	5 7.8	16 25.0	42 65.6	0.0	Class Department College University	4.469	0.776 0.790 0.769 0.874	64 451 2843 22303
9. The physical environment wa conducive to learning.	as 3 4.7	3 4.7	5 7.8	18 28.1	35 54.7	0	Class Department College University	4.422	1.095 0.962 0.875 1.017	64 451 2843 22284

Department Information		Number	of Stu	dents:			Resp	onse Key	7: 	
S_Lev: 600, 700 & 800 : Dept: ECONOMICS Frequencies (top row) and p	# She	ets Sca	Y	our Dep	t lege		A= N= D= SD=	N Di Strongly	Agree . Agree . Neutral . Sagree . Disagree	(4) (3) (2)
S.D. is the Standard Deviation Please rate the following:	tion and #R i						AREA	MEAN	S.D.	#R
1. This instructor provided well-defined course objectives.	2 11.1	0	1 5.6	3 16.7	12 66.7	0.0	Class Department College University	4.467	1.320 0.780 0.790 0.900	18 451 2848 22330
 This instructor provided content and materials that were clear and well organ: 		2 11.1	1 5.6	2 11.1	11 61.1	0.0	Class Department College University	4.410	1.495 0.882 0.864 1.018	18 451 2847 22329
3. I understood how my grade: were assigned in this cou:		4 22.2	1 5.6	2 11.1	10 55.6	0.0	Class Department College University	4.515	1.451 0.845 0.784 0.890	18 450 284 2231
 I met or exceeded the cou- objectives given for this course. 	rse 1 5.6	0.0	3 16.7	4 22.2	10 55.6	0.0	Class Department College University	4.337	1.114 0.853 0.824 0.860	18 450 2845 22312
5. The instructor was availal to assist students outside of class.		0.0	1 5.6	6 33.3	10 55.6	0.0	Class Department College University	4.406	1.029 0.943 0.844 0.924	1 45 284 2229
 The instructor provided feedback to me in a timel manner. 	3 16.7	1 5.6	0.0	5 27.8	9 50.0	0.0	Class Department College University	4.311	1.530 0.981 0.947 1.018	284 2231
7. The instructor provided relevant feedback that helped me learn.	3 16.7	1 5.6	1 5.6	5 27.8	8 44.4	0.0	Class Department College University	4.344	1.517 1.028 0.923 1.043	1 45 284 2230
8. The instructor set and maintained high standards that students must meet.	1 5.6	0.0	3 16.7	2 11.1	12 66.7	0.0	Class Department College University	4.469	1.138 0.790 0.769 0.874	1 45 284 2230
9. The physical environment to conducive to learning.	was 3 16.7	1 5.6	0.0	4 22.2	10 55.6	0	Class Department College University	4.422	1.552 0.962 0.875 1.017	1 45 284 2228

Department Information		Number	of Stu	dents:			Resp	onse Key	:	
S_Lev: 100 & 200 Level Course Dept: ENTOMOLOGY		ets Scar	Y	his Levo our Dep		13 30 2866	N= N=	N Di	Agree . Agree . eutral . sagree . Disagree	(4)(3)(2)
Frequencies (top row) and percent S.D. is the Standard Deviation an							each question.			
Please rate the following:	SD	D	N	A	SA	OMIT	AREA	MEAN	S.D.	#R
This instructor provided well-defined course objectives.	0	0.0	1 7.7	4 30.8	8 61.5	0	Class Department College University	4.467	0.660 0.504 0.790 0.900	13 30 2848 22330
This instructor provided content and materials that were clear and well organized.	0	0.0	1 7.7	4 30.8	8 61.5	0	Class Department College University	4.410	0.660 0.819 0.864 1.018	13 30 2847 22329
3. I understood how my grades were assigned in this course.	0	0.0	1 7.7	3 23.1	9 69.2	0	Class Department College University	4.515	0.650 0.484 0.784 0.890	13 30 2847 22314
4. I met or exceeded the course objectives given for this course.	0.0	0.0	1 7.7	4 30.8	8 61.5	0	Class Department College University	4.337	0.660 0.898 0.824 0.860	13 30 2845 22312
5. The instructor was available to assist students outside of class.	0	0.0	1 7.7	5 38.5	7 53.8	0	Class Department College University	4.462 4.700 4.406 4.291	0.660 0.535 0.844 0.924	13 30 2845 22297
6. The instructor provided feedback to me in a timely manner.	0	0.0	1 7.7	4 30.8	8 61.5	0	Class Department College University	4.538 4.767 4.311 4.201	0.660 0.504 0.947 1.018	13 30 2847 22310
7. The instructor provided relevant feedback that helped me learn.	0	0.0	1 7.7	5 38.5	7 53.8	0	Class Department College University	4.344	0.660 0.535 0.923 1.043	13 30 2846 22308
8. The instructor set and maintained high standards that students must meet.	0	0.0	1 7.7	5 38.5	7 53.8	0	Class Department College University	4.469	0.660 0.615 0.769 0.874	13 30 2843 22303
9. The physical environment was conducive to learning.	0.0	0.0	2	5 38.5	6 46.2	0	Class Department College University	4.308 4.267 4.422 4.236	0.751 1.048 0.875 1.017	13 30 2843 22284

Department Information		Number	of Stu	dents:			Resp	onse Key	·:	
S_Lev: 300 & 400 Level Course: Dept: ENTOMOLOGY		ets Scar	Y	our Dep	rel ot lege	7 30 2866	N= D=	N Di	Agree . Agree . Jeutral . Sagree . Disagree	(4) (3) (2)
Frequencies (top row) and percents S.D. is the Standard Deviation and	d #R i	s the Nu	umber o	f Valid			each question.			
Please rate the following:	SD	D	N	Α	SA	OMIT	AREA	MEAN	S.D.	#R
1. This instructor provided well-defined course objectives.	0.0	0.0	0	1 14.3	6 85.7	0.0	Class Department College University	4.467	0.378 0.504 0.790 0.900	7 30 2848 22330
This instructor provided content and materials that were clear and well organized.	0.0	1 14.3	1 14.3	1 14.3	4 57.1	0.0	Class Department College University	4.410	1.215 0.819 0.864 1.018	7 30 2847 22329
3. I understood how my grades were assigned in this course.	0.0	0.0	0	1 14.3	6 85.7	0.0	Class Department College University	4.515	0.378 0.484 0.784 0.890	7 30 2847 22314
4. I met or exceeded the course objectives given for this course.	0.0	0.0	0.0	4 57.1	3 42.9	0.0	Class Department College University	4.337	0.535 0.898 0.824 0.860	7 30 2845 22312
5. The instructor was available to assist students outside of class.	0.0	0.0	0.0	2 28.6	5 71.4	0.0	Class Department College University	4.406	0.488 0.535 0.844 0.924	7 30 2845 22297
6. The instructor provided feedback to me in a timely manner.	0.0	0.0	0.0	0.0	7	0.0	Class Department College University	4.311	0.000 0.504 0.947 1.018	7 30 2847 22310
7. The instructor provided relevant feedback that helped me learn.	0.0	0.0	0.0	1 14.3	6 85.7	0.0	Class Department College University	4.344	0.378 0.535 0.923 1.043	7 30 2846 22308
8. The instructor set and maintained high standards that students must meet.	0.0	0.0	0	1 14.3	6 85.7	0.0	Class Department College University	4.469	0.378 0.615 0.769 0.874	7 30 2843 22303
9. The physical environment was conducive to learning.	0.0	0.0	1 14.3	1 14.3	5 71.4	0	Class Department College University	4.422	0.787 1.048 0.875 1.017	7 30 2843 22284

Department Information		Number	of Stu	dents:			Resp	onse Key	·:	
S_Lev: 600, 700 & 800 Level Dept: ENTOMOLOGY		ets Scar	Y	our Dep	rel ot	10 30 2866	A= N= D=	N Di	Agree . Agree . Jeutral . Sagree . Disagree	(4) (3) (2)
Frequencies (top row) and percen S.D. is the Standard Deviation a							each question.			
Please rate the following:	SD	D	N	A	SA	OMIT	AREA	MEAN	S.D.	#R
1. This instructor provided well-defined course objectives.	0.0	0.0	0.0	0	10 100.0	0.0	Class Department College University	4.467	0.000 0.504 0.790 0.900	10 30 2848 22330
2. This instructor provided content and materials that were clear and well organized.	0.0	0.0	10.0	20.0	7 70.0	0.0	Class Department College University	4.410	0.699 0.819 0.864 1.018	10 30 2847 22329
3. I understood how my grades were assigned in this course.	0.0	0.0	0.0	0.0	10 100.0	0.0	Class Department College University	4.515	0.000 0.484 0.784 0.890	10 30 2847 22314
 I met or exceeded the course objectives given for this course. 	10.0	0.0	110.0	10.0	7 70.0	0.0	Class Department College University	4.337	1.337 0.898 0.824 0.860	10 30 2845 22312
The instructor was available to assist students outside of class.	0.0	0.0	0.0	0.0	10 100.0	0.0	Class Department College University	4.406	0.000 0.535 0.844 0.924	10 30 2845 22297
 The instructor provided feedback to me in a timely manner. 	0.0	0.0	0.0	10.0	9 90.0	0.0	Class Department College University	4.311	0.316 0.504 0.947 1.018	10 30 2847 22310
7. The instructor provided relevant feedback that helped me learn.	0.0	0.0	0.0	10.0	9 90.0	0.0	Class Department College University	4.344	0.316 0.535 0.923 1.043	10 30 2846 22308
8. The instructor set and maintained high standards that students must meet.	0.0	0.0	1 10.0	1 10.0	8	0.0	Class Department College University	4.469	0.675 0.615 0.769 0.874	10 30 2843 22303
9. The physical environment was conducive to learning.	1 10.0	1	1	10.0	60.0	0.0	Class Department College University	4.422	1.491 1.048 0.875 1.017	10 30 2843 22284

Department Information		Number	of Stu	dents:			Resp	onse Key	·:	
S Lev: 100 & 200 Level Course Dept: MICROBIOLOGY		ts Sca	Y	his Lev our Dep		252 377 2866	A= N= D=	N Di	Agree . Agree . Weutral . Sagree . Disagree	(4)(3)(2)
Frequencies (top row) and percent S.D. is the Standard Deviation an							each question.			
Please rate the following:	SD	D	N	A	SA	OMIT	AREA	MEAN	S.D.	#R
1. This instructor provided well-defined course objectives.	4 1.6	7 2.8	15 6.0	54 21.4	172 68.3	0.0	Class Department College University	4.467	0.854 0.803 0.790 0.900	252 375 2848 22330
2. This instructor provided content and materials that were clear and well organized.	5 2.0	10 4.0	16 6.3	44 17.5	177 70.2	0.0	Class Department College University	4.410	0.926 0.855 0.864 1.018	252 375 2847 22329
3. I understood how my grades were assigned in this course.	1	3 1.2	13 5.2	53 21.0	181 71.8	10.4	Class Department College University	4.515	0.676 0.697 0.784 0.890	251 374 2847 22314
4. I met or exceeded the course objectives given for this course.	3 1.2	2	16 6.3	78 31.0	153 60.7	0.0	Class Department College University	4.337	0.755 0.742 0.824 0.860	252 375 2845 22312
5. The instructor was available to assist students outside of class.	1	5 2.0	26 10.3	56 22.2	164 65.1	0.0	Class Department College University	4.406	0.791 0.791 0.844 0.924	252 374 2845 22297
6. The instructor provided feedback to me in a timely manner.	5 2.0	7 2.8	16 6.3	57 22.6	167 66.3	0.0	Class Department College University	4.311	0.886 0.935 0.947 1.018	252 375 2847 22310
7. The instructor provided relevant feedback that helped me learn.	6 2.4	9	16 6.3	54 21.4	167 66.3	0.0	Class Department College University	4.344	0.937 0.922 0.923 1.043	252 375 2846 22308
8. The instructor set and maintained high standards that students must meet.	1	9	12 4.8	68 27.0	162 64.3	0.0	Class Department College University	4.469	0.781 0.742 0.769 0.874	252 374 2843 22303
9. The physical environment was conducive to learning.	4 1.6	8 3.2	8 3.2	54 21.4	178 70.6	0	Class Department College University	4.422	0.833 0.839 0.875 1.017	252 375 2843 22284

	Department Information		Number	of Stud	dents:			Resp	onse Key	7:	
	S_Lev: 300 & 400 Level Courses Dept: MICROBIOLOGY		ts Scan	Yo	nis Leve our Dep our Col		82 377 2866	A= N= D=	N Di	Agree . Agree . Neutral . Sagree . Disagree	(4) (3) (2)
	Frequencies (top row) and percents S.D. is the Standard Deviation and							each question.			
	Please rate the following:	SD	D	N	A	SA	OMIT	AREA	MEAN	S.D.	#R ======
1.	This instructor provided well-defined course objectives.	0.0	3 3.7	3 3.7	22 26.8	52 63.4	2 2.4	Class Department College University	4.467	0.745 0.803 0.790 0.900	80 375 2848 22330
2.	This instructor provided content and materials that were clear and well organized.	0.0	2 2.4	5 6.1	23 28.0	50 61.0	2 2.4	Class Department College University	4.410	0.729 0.855 0.864 1.018	80 375 2847 22329
3.	I understood how my grades were assigned in this course.	0	2 2.4	1 1.2	22 26.8	55 67.1	2 2.4	Class Department College University	4.515	0.644 0.697 0.784 0.890	80 374 2847 22314
4.	I met or exceeded the course objectives given for this course.	0	1 1.2	6 7.3	21 25.6	52 63.4	2 2.4	Class Department College University	4.337	0.692 0.742 0.824 0.860	80 375 2845 22312
5.	The instructor was available to assist students outside of class.	1 1.2	2 2.4	7 8.5	22 26.8	48 58.5	2 2.4	Class Department College University	4.406	0.854 0.791 0.844 0.924	80 374 2845 22297
6.	The instructor provided feedback to me in a timely manner.	4 4.9	3 3.7	8 9.8	21 25.6	44 53.7	2 2.4	Class Department College University	4.311	1.102 0.935 0.947 1.018	80 375 2847 22310
7.	The instructor provided relevant feedback that helped me learn.	2 2.4	2 2.4	10 12.2	21 25.6	45 54.9	2 2.4	Class Department College University	4.344	0.963 0.922 0.923 1.043	80 375 2846 22308
8.	The instructor set and maintained high standards that students must meet.	0	0.0	6 7.3	20 24.4	53 64.6	3 3.7	Class Department College University	4.469	0.631 0.742 0.769 0.874	79 374 2843 22303
9.	The physical environment was conducive to learning.	1 1.2	5 6.1	4 4.9	22 26.8	48 58.5	2 2.4	Class Department College University	4.422	0.934 0.839 0.875 1.017	80 375 2843 22284

Department Information		Number	of Stu	dents:			Resp	onse Key	·:	
S_Lev: 600, 700 & 800 Level Dept: MICROBIOLOGY Frequencies (top row) and percen	# Shee	om row	Yo Yo) are p:	rovided	t lege to the	right of	A= N= D= SD=	N Di Strongly	Agree . Agree . Yeutral . Sagree . Disagree	(4) (3) (2)
S.D. is the Standard Deviation at Please rate the following:	SD	D	N	 А	SA	ses. OMIT	AREA	MEAN	S.D.	#R
1. This instructor provided well-defined course objectives.	0 0.0	0 0.0	2 4.7	9 20.9	32 74.4	0.0	Class Department College University	4.698 4.544 4.467	0.558 0.803 0.790 0.900	43 375 2848 22330
This instructor provided content and materials that were clear and well organized.	0.0	0.0	3 7.0	10 23.3	30 69.8	0.0	Class Department College University	4.410	0.618 0.855 0.864 1.018	43 375 2847 22329
3. I understood how my grades were assigned in this course.	0	2 4.7	5 11.6	9 20.9	27 62.8	0.0	Class Department College University	4.515	0.879 0.697 0.784 0.890	43 374 2847 22314
4. I met or exceeded the course objectives given for this course.	0.0	1 2.3	4 9.3	15 34.9	23 53.5	0.0	Class Department College University	4.337	0.760 0.742 0.824 0.860	43 375 2845 22312
5. The instructor was available to assist students outside of class.	0	0.0	4 9.3	5 11.6	33 76.7	1 2.3	Class Department College University	4.406	0.643 0.791 0.844 0.924	42 374 2845 22297
6. The instructor provided feedback to me in a timely manner.	1 2.3	0.0	4 9.3	14 32.6	24 55.8	0.0	Class Department College University	4.311	0.849 0.935 0.947 1.018	43 375 2847 22310
7. The instructor provided relevant feedback that helped me learn.	0	1 2.3	3 7.0	12 27.9	27 62.8	0.0	Class Department College University	4.344	0.736 0.922 0.923 1.043	43 375 2846 22308
8. The instructor set and maintained high standards that students must meet.	0	1 2.3	2 4.7	14 32.6	26 60.5	0.0	Class Department College University	4.469	0.703 0.742 0.769 0.874	43 374 2843 22303
9. The physical environment was conducive to learning.	0.0	1 2.3	1 2.3	11 25.6	30 69.8	0.0	Class Department College University	4.422	0.655 0.839 0.875 1.017	43 375 2843 22284

Department	Information		Number	of Stud	dents:			Resp	onse Key	':	
Dept:	100 & 200 Level Cours NATURAL RESOURCE MANA (top row) and percent Standard Deviation a	GEMENT # Shee	tom row	Yo Yo) are p:	rovided	t lege to the	right of	A= N= D= SD=	N Di Strongly	Agree . Agree . Jeutral . Sagree . Disagree	(4) (3) (2)
Please rate	the following:	SD	D	N	A	SA	OMIT	AREA	MEAN	S.D.	#R
		0.0	2 25.0	2 25.0	3 37.5	1 12.5	0	Class Department College University	3.375 4.390 4.467	1.061 0.891 0.790 0.900	2848 22330
content an	ructor provided nd materials that rand well organized.	0.0	1 12.5	1 12.5	5 62.5	1 12.5	0.0	Class Department College University	4.410	0.886 0.845 0.864 1.018	2847 22329
	ood how my grades gned in this course.	1 12.5	1 12.5	2 25.0	3 37.5	1 12.5	0.0	Class Department College University	4.515	1.282 0.836 0.784 0.890	284 2231
	exceeded the course g given for se.	0.0	1 12.5	2 25.0	4 50.0	1 12.5	0.0	Class Department College University	4.337	0.916 0.852 0.824 0.860	2845 22312
	nctor was available students outside	0.0	1 12.5	3 37.5	3 37.5	1 12.5	0.0	Class Department College University	4.406	0.926 0.772 0.844 0.924	2845 2229
	nctor provided to me in a timely	0.0	3 37.5	2 25.0	2 25.0	1 12.5	0.0	Class Department College University	4.311	1.126 1.056 0.947 1.018	7° 284° 22310
	nctor provided Teedback that learn.	0.0	3 37.5	2 25.0	2 25.0	1 12.5	0.0	Class Department College University	4.344	1.126 0.905 0.923 1.043	2846 22308
	nctor set and I high standards ents must meet.	0.0	2 25.0	3 37.5	2 25.0	1 12.5	0.0	Class Department College University	4.469	1.035 0.819 0.769 0.874	2843 22303
	cal environment was to learning.	1 12.5	0.0	2 25.0	2 25.0	3 37.5	0	Class Department College University	4.422	1.389 0.926 0.875 1.017	2843 2228

Department Information		Number	of Stud	dents:			Resp	onse Key	·:	
S Lev: 300 & 400 Level Cou Dept: NATURAL RESOURCE MA	ANAGEMENT # Shee		Y	our Dep our Col	t lege		A= N= D= SD=	N Di Strongly	Agree . Agree . Jeutral . Sagree . Disagree	(4) (3) (2)
S.D. is the Standard Deviation Please rate the following:	n and #R is SD	the Ni	umber o: N	f Valid A	Respons SA	Ses. OMIT	AREA	MEAN	S.D.	#R
1. This instructor provided well-defined course objectives.	1 2.4	0 . 0	3 7.3	12 29.3	25 61.0	0.0	Class Department College University	4.463 4.390 4.467	0.840 0.891 0.790 0.900	41 77 2848 22330
This instructor provided content and materials that were clear and well organized	1 2.4	1 2.4	3 7.3	13 31.7	23 56.1	0.0	Class Department College University	4.410	0.915 0.845 0.864 1.018	41 77 2847 22329
3. I understood how my grades were assigned in this course.	0.0	1 2.4	2 4.9	11 26.8	27 65.9	0.0	Class Department College University	4.515	0.709 0.836 0.784 0.890	41 77 2847 22314
4. I met or exceeded the course objectives given for this course.	0.0	0.0	5 12.2	13 31.7	23 56.1	0.0	Class Department College University	4.337	0.709 0.852 0.824 0.860	41 77 2845 22312
5. The instructor was available to assist students outside of class.	0.0	1 2.4	3 7.3	10 24.4	27 65.9	0.0	Class Department College University	4.406	0.745 0.772 0.844 0.924	41 77 2845 22297
6. The instructor provided feedback to me in a timely manner.	1 2.4	1 2.4	4 9.8	11 26.8	24 58.5	0.0	Class Department College University	4.311	0.942 1.056 0.947 1.018	41 77 2847 22310
7. The instructor provided relevant feedback that helped me learn.	1 2.4	1 2.4	2 4.9	12 29.3	25 61.0	0.0	Class Department College University	4.344	0.896 0.905 0.923 1.043	41 77 2846 22308
8. The instructor set and maintained high standards that students must meet.	0	1 2.4	3 7.3	10 24.4	27 65.9	0.0	Class Department College University	4.469	0.745 0.819 0.769 0.874	41 77 2843 22303
9. The physical environment was conducive to learning.	1 2.4	1 2.4	6 14.6	12 29.3	21 51.2	0.0	Class Department College University	4.422	0.969 0.926 0.875 1.017	41 77 2843 22284

North Dakota State University Semester Report Information Student Course Experience Survey --- Course Level Summary Report Report Generated on 05JUL23 Using Data from Spring 2023

Department Information		Number	of Stu	dents:			Resp	onse Key	:	
S Lev: 600, 700 & 800 Level Co Dept: NATURAL RESOURCE MANAGE	EMENT	ts Scar	Y	his Leve our Dep		28 77 2866	A= N= D=	N Di	Agree . Agree . eutral . sagree . Disagre	(4) (3) (2)
Frequencies (top row) and percents S.D. is the Standard Deviation and							each question.			
Please rate the following:	SD	D	N	A	SA	OMIT	AREA	MEAN	S.D.	#R
This instructor provided well-defined course objectives.	0.0	1 3.6	1 3.6	7 25.0	19 67.9	0	Class Department College University	4.571 4.390 4.467	0.742 0.891 0.790 0.900	28 77 2848 22330
This instructor provided content and materials that were clear and well organized.	0.0	0.0	2 7.1	7 25.0	19 67.9	0	Class Department College University	4.410	0.629 0.845 0.864 1.018	28 77 2847 22329
3. I understood how my grades were assigned in this course.	0	0	1 3.6	7 25.0	20 71.4	0	Class Department College University	4.515	0.548 0.836 0.784 0.890	28 77 2847 22314
4. I met or exceeded the course objectives given for this course.	0.0	2 7.1	3	5 17.9	18 64.3	0	Class Department College University	4.337	0.956 0.852 0.824 0.860	28 77 2845 22312
5. The instructor was available to assist students outside of class.	0.0	0.0	1 3.6	6 21.4	21 75.0	0.0	Class Department College University	4.406	0.535 0.772 0.844 0.924	28 77 2845 22297
6. The instructor provided feedback to me in a timely manner.	1 3.6	1 3.6	2 7.1	5 17.9	19 67.9	0	Class Department College University	4.311	1.034 1.056 0.947 1.018	28 77 2847 22310
7. The instructor provided relevant feedback that helped me learn.	0.0	0.0	0.0	9 32.1	19 67.9	0	Class Department College University	4.344	0.476 0.905 0.923 1.043	28 77 2846 22308
8. The instructor set and maintained high standards that students must meet.	0	0.0	1 3.6	8 28.6	19 67.9	0	Class Department College University	4.469	0.559 0.819 0.769 0.874	28 77 2843 22303
9. The physical environment was conducive to learning.	0.0	0.0	1 3.6	8 28.6	19 67.9	0	Class Department College University	4.422	0.559 0.926 0.875 1.017	28 77 2843 22284

	Department Information		Number	of Stu	dents:			Resp	onse Key	7:	
	S_Lev: 100 & 200 Level Courses Dept: PRECISION AGRICULTURE		ts Scan	Y	our Dep	rel rt lege	3 19 2866	A= N= D=	l Di	Agree . Agree . Meutral . Sagree . Disagree	(4) (3) (2)
	Frequencies (top row) and percents S.D. is the Standard Deviation and							each question.			
	Please rate the following:	SD	D	N	A	SA	OMIT	AREA	MEAN	S.D.	#R
	This instructor provided well-defined course objectives.	0.0	0.0	0.0	1 33.3	2 66.7	0.0	Class Department College University	4.467	0.577 0.772 0.790 0.900	3 19 2848 22330
2.	This instructor provided content and materials that were clear and well organized.	0.0	0.0	0.0	1 33.3	2 66.7	0.0	Class Department College University	4.410	0.577 0.878 0.864 1.018	3 18 2847 22329
3.	I understood how my grades were assigned in this course.	0.0	0.0	0.0	0.0	3 100.0	0.0	Class Department College University	4.515	0.000 0.697 0.784 0.890	3 19 2847 22314
4.	I met or exceeded the course objectives given for this course.	0	0	0.0	0	3	0	Class Department College University	4.337	0.000 0.496 0.824 0.860	3 19 2845 22312
5.	The instructor was available to assist students outside of class.	0	0	0.0	1 33.3	2 66.7	0.0	Class Department College University	4.406	0.577 0.697 0.844 0.924	3 19 2845 22297
6.	The instructor provided feedback to me in a timely manner.	0	0	0.0	2 66.7	1 33.3	0	Class Department College University	4.311	0.577 1.015 0.947 1.018	3 19 2847 22310
7.	The instructor provided relevant feedback that helped me learn.	0	0	0	1 33.3	2 66.7	0.0	Class Department College University	4.344	0.577 1.098 0.923 1.043	3 19 2846 22308
8.	The instructor set and maintained high standards that students must meet.	0	0.0	0.0	2 66.7	1 33.3	0	Class Department College University	4.469	0.577 0.612 0.769 0.874	3 19 2843 22303
9.	The physical environment was conducive to learning.	0	0.0	0.0	1 33.3	2 66.7	0.0	Class Department College University	4.422	0.577 0.607 0.875 1.017	3 19 2843 22284

	Department Information		Number	of Stu	dents:			Resp	onse Key	7:	
	S_Lev: 300 & 400 Level Courses Dept: PRECISION AGRICULTURE		ets Scar	Y	our Dep		13 19 2866	A= N= D=	N Di	Agree . Agree . Jeutral . Sagree . Disagree	(4) (3) (2)
	Frequencies (top row) and percents S.D. is the Standard Deviation and							each question.			
	Please rate the following:	SD	D	N	A	SA	OMIT	AREA	MEAN	S.D.	#R
1.	This instructor provided well-defined course objectives.	0.0	7.7	0.0	6 46.2	6 46.2	0.0	Class Department College University	4.467	0.855 0.772 0.790 0.900	13 19 2848 22330
2.	This instructor provided content and materials that were clear and well organized.	0.0	7.7	2 15.4	5 38.5	5 38.5	0.0	Class Department College University	4.410	0.954 0.878 0.864 1.018	13 18 2847 22329
3.	I understood how my grades were assigned in this course.	0.0	0.0	2 15.4	6 46.2	5 38.5	0.0	Class Department College University	4.515	0.725 0.697 0.784 0.890	13 19 2847 22314
4.	I met or exceeded the course objectives given for this course.	0.0	0.0	0.0	7 53.8	6 46.2	0	Class Department College University	4.337	0.519 0.496 0.824 0.860	13 19 2845 22312
5.	The instructor was available to assist students outside of class.	0.0	0.0	2 15.4	5 38.5	6 46.2	0	Class Department College University	4.406	0.751 0.697 0.844 0.924	13 19 2845 22297
6.	The instructor provided feedback to me in a timely manner.	1 7.7	0.0	2 15.4	6 46.2	4 30.8	0	Class Department College University	4.311	1.115 1.015 0.947 1.018	13 19 2847 22310
7.	The instructor provided relevant feedback that helped me learn.	0.0	3 23.1	0.0	4 30.8	6 46.2	0	Class Department College University	4.344	1.225 1.098 0.923 1.043	13 19 2846 22308
8.	The instructor set and maintained high standards that students must meet.	0.0	0.0	1 7.7	5 38.5	7 53.8	0.0	Class Department College University	4.469	0.660 0.612 0.769 0.874	13 19 2843 22303
9.	The physical environment was conducive to learning.	0.0	0.0	7.7	5 38.5	7 53.8	0	Class Department College University	4.422	0.660 0.607 0.875 1.017	13 19 2843 22284

Department Information		Number	of Stu	dents:			Resp	onse Key	7:	
S_Lev: 600, 700 & 800 Level Dept: PRECISION AGRICULTURE Frequencies (top row) and percen	# Shee		Yo	our Dep our Col	rel t lege		A= N= D= SD=	N Di Strongly	Agree . Agree . Neutral . Sagree . Disagree	(4) (3) (2)
S.D. is the Standard Deviation a Please rate the following:	nd #R is SD	the Nu	mber o	f Valid A	Respon SA	ses. 	AREA	MEAN	S.D.	#R
This instructor provided well-defined course objectives.	0.0	0	0 0 . 0	0.0	3	0.0	Class Department College University	4.467	0.000 0.772 0.790 0.900	3 19 2848 22330
2. This instructor provided content and materials that were clear and well organized.	0.0	0.0	0.0	1 33.3	1 33.3	1 33.3	Class Department College University	4.410	0.707 0.878 0.864 1.018	2 18 2847 22329
3. I understood how my grades were assigned in this course.	0.0	0	0.0	0.0	3	0.0	Class Department College University	4.515	0.000 0.697 0.784 0.890	3 19 2847 22314
4. I met or exceeded the course objectives given for this course.	0.0	0.0	0.0	0.0	3	0	Class Department College University	4.337	0.000 0.496 0.824 0.860	3 19 2845 22312
5. The instructor was available to assist students outside of class.	0.0	0.0	0.0	0.0	3	0	Class Department College University	4.406	0.000 0.697 0.844 0.924	3 19 2845 22297
6. The instructor provided feedback to me in a timely manner.	0.0	0	0.0	0	3	0.0	Class Department College University	4.311	0.000 1.015 0.947 1.018	3 19 2847 22310
7. The instructor provided relevant feedback that helped me learn.	0.0	0.0	0	0	3	0.0	Class Department College University	4.344	0.000 1.098 0.923 1.043	3 19 2846 22308
8. The instructor set and maintained high standards that students must meet.	0.0	0	0.0	0.0	3	0	Class Department College University	4.469	0.000 0.612 0.769 0.874	3 19 2843 22303
9. The physical environment was conducive to learning.	0.0	0	0.0	0.0	3	0	Class Department College University	4.422	0.000 0.607 0.875 1.017	3 19 2843 22284

Department Information		Number	of Stu	dents:			Resp	onse Key	·:	
S_Lev: 100 & 200 Level Course: Dept: PLANT SCIENCES		ets Scar	Y	his Levo our Dep		110 513 2866	N= D=	N Di	Agree . Agree . Jeutral . Sagree . Disagree	(4) (3) (2)
Frequencies (top row) and percent: S.D. is the Standard Deviation and	d #R is	the Nu	umber o	f Valid			each question.			
Please rate the following:	SD	D	N	A	SA	OMIT	AREA	MEAN	S.D.	#R
1. This instructor provided well-defined course objectives.	1	2	9	43 39.1	55 50.0	0.0	Class Department College University	4.467	0.785 0.719 0.790 0.900	110 511 2848 22330
This instructor provided content and materials that were clear and well organized.	1	4 3.6	11 10.0	38 34.5	56 50.9	0.0	Class Department College University	4.410	0.865 0.817 0.864 1.018	110 511 2847 22329
3. I understood how my grades were assigned in this course.	1	2	13 11.8	34 30.9	60 54.5	0	Class Department College University	4.515	0.832 0.699 0.784 0.890	110 511 2847 22314
4. I met or exceeded the course objectives given for this course.	2	7 6.4	18 16.4	47 42.7	36 32.7	0	Class Department College University	4.337	0.958 0.858 0.824 0.860	110 510 2845 22312
5. The instructor was available to assist students outside of class.	0.0	1	11 10.0	48 43.6	50 45.5	0.0	Class Department College University	4.406	0.694 0.733 0.844 0.924	110 510 2845 22297
 The instructor provided feedback to me in a timely manner. 	0.0	2	8 7.3	41 37.3	59 53.6	0.0	Class Department College University	4.311	0.710 0.776 0.947 1.018	110 511 2847 22310
7. The instructor provided relevant feedback that helped me learn.	1	1	14 12.7	39 35.5	55 50.0	0.0	Class Department College University	4.344	0.803 0.787 0.923 1.043	110 510 2846 22308
8. The instructor set and maintained high standards that students must meet.	0.0	1 0.9	98.2	46 41.8	54 49.1	0.0	Class Department College University	4.469	0.679 0.673 0.769 0.874	110 509 2843 22303
9. The physical environment was conducive to learning.	1	1 0.9	12 10.9	38 34.5	58 52.7	0	Class Department College University	4.422	0.788 0.790 0.875 1.017	110 509 2843 22284

Department Information		Number	of Stu	dents:			Resp	onse Key	:	
S_Lev: 300 & 400 Level Course: Dept: PLANT SCIENCES		ets Scar	Y	his Levo our Dep	t	305 513 2866	A= N= D=	N Di	Agree . Agree . eutral . sagree . Disagree	(4) (3) (2)
Frequencies (top row) and percent: S.D. is the Standard Deviation and	d #R is	the Nu	umber o	f Valid			each question.			
Please rate the following:	SD	D	N	A	SA	OMIT	AREA	MEAN	S.D.	#R
This instructor provided well-defined course objectives.	1	8 2.6	15 4.9	88 28.9	191 62.6	2 0.7	Class Department College University	4.467	0.741 0.719 0.790 0.900	303 511 2848 22330
This instructor provided content and materials that were clear and well organized.	1	12 3.9	27 8.9	76 24.9	187 61.3	2 0.7	Class Department College University	4.410	0.839 0.817 0.864 1.018	303 511 2847 22329
3. I understood how my grades were assigned in this course.	1	6 2.0	9	78 25.6	209 68.5	2 0.7	Class Department College University	4.515	0.676 0.699 0.784 0.890	303 511 2847 22314
4. I met or exceeded the course objectives given for this course.	3	8 2.6	39 12.8	95 31.1	157 51.5	3 1.0	Class Department College University	4.337	0.867 0.858 0.824 0.860	302 510 2845 22312
5. The instructor was available to assist students outside of class.	2 0.7	1	35 11.5	82 26.9	182 59.7	3 1.0	Class Department College University	4.406	0.763 0.733 0.844 0.924	302 510 2845 22297
6. The instructor provided feedback to me in a timely manner.	1	8 2.6	34 11.1	83 27.2	177 58.0	2 0.7	Class Department College University	4.311	0.816 0.776 0.947 1.018	303 511 2847 22310
7. The instructor provided relevant feedback that helped me learn.	4 1.3	4	33 10.8	80 26.2	181 59.3	3 1.0	Class Department College University	4.344	0.839 0.787 0.923 1.043	302 510 2846 22308
8. The instructor set and maintained high standards that students must meet.	2	2	17 5.6	89 29.2	191 62.6	4	Class Department College University	4.469	0.694 0.673 0.769 0.874	301 509 2843 22303
9. The physical environment was conducive to learning.	4	8 2.6	20 6.6	85 27.9	184 60.3	4	Class Department College University	4.422	0.838 0.790 0.875 1.017	301 509 2843 22284

Department Information		Number	of Stud	dents:			Resp	onse Key	:	
S_Lev: 600, 700 & 800 Level C Dept: PLANT SCIENCES Frequencies (top row) and percent	# Shee	ets Scan	Yo	our Dep	t lege		A= N= D= SD=	N Di Strongly	Agree . Agree . eutral . sagree . Disagree	(4) (3) (2)
S.D. is the Standard Deviation an Please rate the following:							AREA	 MEAN	S.D.	#R
This instructor provided well-defined course objectives.		0.0	2 2.0	28 28.6	68 69.4	0.0	Class Department College University	4.467	0.513 0.719 0.790 0.900	98 511 2848 22330
This instructor provided content and materials that were clear and well organized.	0.0	1 1.0	6 6.1	24 24.5	67 68.4	0	Class Department College University	4.410	0.654 0.817 0.864 1.018	98 511 2847 22329
3. I understood how my grades were assigned in this course.	0.0	1	2 2.0	12 12.2	83 84.7	0	Class Department College University	4.515	0.511 0.699 0.784 0.890	98 511 2847 22314
4. I met or exceeded the course objectives given for this course.	0.0	0.0	1	31 31.6	66 67.3	0	Class Department College University	4.337	0.496 0.858 0.824 0.860	98 510 2845 22312
5. The instructor was available to assist students outside of class.	0.0	1	6 6.1	11 11.2	80 81.6	0	Class Department College University	4.406	0.618 0.733 0.844 0.924	98 510 2845 22297
6. The instructor provided feedback to me in a timely manner.	0	2 2.0	6 6.1	17 17.3	73 74.5	0.0	Class Department College University	4.311	0.692 0.776 0.947 1.018	98 511 2847 22310
7. The instructor provided relevant feedback that helped me learn.	0	0.0	2 2.0	11 11.2	85 86.7	0	Class Department College University	4.344	0.415 0.787 0.923 1.043	98 510 2846 22308
8. The instructor set and maintained high standards that students must meet.	0	1	2 2.0	19 19.4	76 77.6	0.0	Class Department College University	4.469	0.548 0.673 0.769 0.874	98 509 2843 22303
9. The physical environment was conducive to learning.	0.0	1	3 3.1	16 16.3	78 79.6	0.0	Class Department College University	4.422	0.562 0.790 0.875 1.017	98 509 2843 22284

Department Information		Number	of Stu	dents:			Resp	onse Key	·:	
S_Lev: 300 & 400 Level Course. Dept: PLANT PATHOLOGY		ets Scar	Y	his Leve our Dep		10 138 2866	A= N= D=	N Di	Agree . Agree . Teutral . Sagree . Disagree	(4) (3) (2)
Frequencies (top row) and percent. S.D. is the Standard Deviation and							each question.			
Please rate the following:	SD	D	N	A	SA	OMIT	AREA	MEAN	S.D.	#R
This instructor provided well-defined course objectives.	0.0	2 20.0	2 20.0	3 30.0	3 30.0	0.0	Class Department College University	4.467	1.160 0.817 0.790 0.900	10 138 2848 22330
This instructor provided content and materials that were clear and well organized.	0.0	0.0	440.0	3 30.0	3 30.0	0.0	Class Department College University	4.410	0.876 0.828 0.864 1.018	10 138 2847 22329
3. I understood how my grades were assigned in this course.	0.0	0.0	1	40.0	5 50.0	0.0	Class Department College University	4.515	0.699 0.813 0.784 0.890	10 138 2847 22314
 I met or exceeded the course objectives given for this course. 	0.0	0.0	1	5 50.0	40.0	0.0	Class Department College University	4.337	0.675 0.822 0.824 0.860	10 136 2845 22312
5. The instructor was available to assist students outside of class.	3 30.0	0.0	2 20.0	1 10.0	4 40.0	0.0	Class Department College University	4.406	1.767 1.022 0.844 0.924	10 137 2845 22297
6. The instructor provided feedback to me in a timely manner.	1 10.0	1	1	5 50.0	20.0	0.0	Class Department College University	4.311	1.265 1.027 0.947 1.018	10 138 2847 22310
7. The instructor provided relevant feedback that helped me learn.	1 10.0	2 20.0	1	4 40.0	2 20.0	0.0	Class Department College University	4.344	1.350 0.983 0.923 1.043	10 138 2846 22308
8. The instructor set and maintained high standards that students must meet.	2 20.0	0.0	3 30.0	2 20.0	3 30.0	0.0	Class Department College University	4.469	1.506 1.036 0.769 0.874	10 137 2843 22303
9. The physical environment was conducive to learning.	2 20.0	0.0	1	2 20.0	5 50.0	0.0	Class Department College University	4.422	1.619 1.019 0.875 1.017	10 138 2843 22284

Department Information		Number	of Stud	dents:			Resp	onse Key	:	
S_Lev: 600, 700 & 800 Level (Dept: PLANT PATHOLOGY		ets Scan	Y	our Dep		128 138 2866	A= N= D=	N Di	Agree . Agree . eutral . sagree . Disagree	(4) (3) (2)
Frequencies (top row) and percent S.D. is the Standard Deviation an							each question.			
Please rate the following:	SD	D	N	A	SA	OMIT	AREA	MEAN	S.D.	#R
1. This instructor provided well-defined course objectives.	2	0.8	6 4.7	21 16.4	98 76.6	0.0	Class Department College University	4.467	0.747 0.817 0.790 0.900	128 138 2848 22330
This instructor provided content and materials that were clear and well organized.	2 1.6	3 2.3	5 3.9	22 17.2	96 75.0	0.0	Class Department College University	4.410	0.805 0.828 0.864 1.018	128 138 2847 22329
I understood how my grades were assigned in this course.	3 2.3	0.8	7 5.5	18 14.1	99 77.3	0.0	Class Department College University	4.515	0.822 0.813 0.784 0.890	128 138 2847 22314
 I met or exceeded the course objectives given for this course. 	2 1.6	3 2.3	7 5.5	20 15.6	94 73.4	2 1.6	Class Department College University	4.337	0.831 0.822 0.824 0.860	126 136 2845 22312
5. The instructor was available to assist students outside of class.	4 3.1	2 1.6	4 3.1	16 12.5	101 78.9	1	Class Department College University	4.406	0.879 1.022 0.844 0.924	127 137 2845 22297
 The instructor provided feedback to me in a timely manner. 	3 2.3	8 6.3	3 2.3	17 13.3	97 75.8	0	Class Department College University	4.311	0.979 1.027 0.947 1.018	128 138 2847 22310
7. The instructor provided relevant feedback that helped me learn.	3 2.3	4 3.1	6 4.7	14 10.9	101 78.9	0	Class Department College University	4.344	0.898 0.983 0.923 1.043	128 138 2846 22308
8. The instructor set and maintained high standards that students must meet.	3 2.3	4 3.1	11 8.6	13 10.2	96 75.0	1	Class Department College University	4.469	0.949 1.036 0.769 0.874	127 137 2843 22303
9. The physical environment was conducive to learning.	5 3.9	2	5 3.9	14 10.9	102 79.7	0.0	Class Department College University	4.422	0.941 1.019 0.875 1.017	128 138 2843 22284

Department Information		Number		lents:			Resp	onse Key	': 	
S_Lev: 300 & 400 Level Course Dept: RANGE SCIENCE		ts Scan	Yo	ur Dept	el E Lege	2 56 2866	A= N= D=	N Di	Agree . Agree . eutral . sagree . Disagree	(4) (3) (2)
Frequencies (top row) and percent S.D. is the Standard Deviation at							each question.			
Please rate the following:	SD	D	N	A	SA	OMIT	AREA	MEAN	S.D.	#R
. This instructor provided well-defined course objectives.	0.0	0.0	0.0	0.0	1 50.0	1 50.0	Class Department College University	5.000 4.818 4.467	0.389 0.790 0.900	5 284 2233
2. This instructor provided content and materials that were clear and well organized.	0.0	0.0	0.0	0.0	1 50.0	1 50.0	Class Department College University	4.410	0.584 0.864 1.018	5 284 2232
. I understood how my grades were assigned in this course.	0.0	0.0	0.0	0.0	1 50.0	1 50.0	Class Department College University	4.515	0.290 0.784 0.890	5 284 2231
I. I met or exceeded the course objectives given for this course.	0.0	0.0	0.0	0.0	1 50.0	1 50.0	Class Department College University	4.337	0.534 0.824 0.860	5 284 2231
The instructor was available to assist students outside of class.	0.0	0.0	0.0	0.0	1 50.0	1 50.0	Class Department College University	4.406	0.369 0.844 0.924	5 284 2229
. The instructor provided feedback to me in a timely manner.	0.0	0.0	0.0	0.0	1 50.0	1 50.0	Class Department College University	4.311	0.920 0.947 1.018	5 284 2231
. The instructor provided relevant feedback that helped me learn.	0	0.0	0.0	0.0	1 50.0	1 50.0	Class Department College University	4.344	0.533 0.923 1.043	5 284 2230
3. The instructor set and maintained high standards that students must meet.	0.0	0.0	0.0	0.0	1 50.0	1 50.0	Class Department College University	4.469	0.573 0.769 0.874	5 284 2230
 The physical environment was conducive to learning. 	0	0.0	0.0	0	1 50.0	1 50.0	Class Department College University	4.422	0.533 0.875 1.017	5 284 2228

Department Information		Number	of Stu	dents:			Resp	onse Key	': 	
S_Lev: 600, 700 & 800 Leve: Dept: RANGE SCIENCE Frequencies (top row) and perce	# Shee		Y		t lege		A= N= D= SD=	N Di Strongly	Agree . Agree . Veutral . Sagree . Visagree	(4) (3) (2)
S.D. is the Standard Deviation Please rate the following:	and #R is	the Nu D	mber o	f Valid A	Respons SA	OMIT	AREA	MEAN	S.D.	#R
This instructor provided well-defined course objectives.	0 0.0	0 0.0	0	10 18.5	44 81.5	0 0.0	Class Department College University	4.467	0.392 0.389 0.790 0.900	54 55 2848 22330
This instructor provided content and materials that were clear and well organized	0.0	1 1.9	1 1.9	9 16.7	43 79.6	0.0	Class Department College University	4.410	0.589 0.584 0.864 1.018	54 55 2847 22329
3. I understood how my grades were assigned in this course.	0.0	0.0	0.0	5 9.3	49 90.7	0	Class Department College University	4.515	0.293 0.290 0.784 0.890	54 55 2847 22314
4. I met or exceeded the course objectives given for this course.	0.0	0.0	1 1.9	21 38.9	32 59.3	0.0	Class Department College University	4.337	0.536 0.534 0.824 0.860	54 55 2845 22312
5. The instructor was available to assist students outside of class.	0	0	1 1.9	4 7.4	49 90.7	0.0	Class Department College University	4.406	0.372 0.369 0.844 0.924	54 55 2845 22297
6. The instructor provided feedback to me in a timely manner.	1 1.9	2 3.7	4 7.4	8 14.8	39 72.2	0.0	Class Department College University	4.311	0.926 0.920 0.947 1.018	54 55 2847 22310
7. The instructor provided relevant feedback that helped me learn.	0.0	0	2 3.7	12 22.2	40 74.1	0	Class Department College University	4.344	0.537 0.533 0.923 1.043	54 55 2846 22308
8. The instructor set and maintained high standards that students must meet.	0.0	0.0	3 5.6	11 20.4	40 74.1	0	Class Department College University	4.469	0.577 0.573 0.769 0.874	54 55 2843 22303
9. The physical environment was conducive to learning.	0.0	0.0	2 3.7	12 22.2	40 74.1	0	Class Department College University	4.422	0.537 0.533 0.875 1.017	54 55 2843 22284

	Department Information		Number	of Stu	dents:			Resp	onse Key	7:	
	S_Lev: 100 & 200 Level Courses Dept: SOIL SCIENCE		ets Scar	Y	nis Leve our Dep our Col		50 87 2866	A= N= D=	N Di	Agree . Agree . Neutral . Sagree . Disagree	(4) (3) (2)
	Frequencies (top row) and percents S.D. is the Standard Deviation and							each question.			
	Please rate the following:	SD	D	N	A	SA	OMIT	AREA	MEAN	S.D.	#R
1.	This instructor provided well-defined course objectives.	0.0	0.0	2 4.0	19 38.0	28 56.0	1 2.0	Class Department College University	4.467	0.581 0.760 0.790 0.900	49 86 2848 22330
2.	This instructor provided content and materials that were clear and well organized.	0.0	0.0	2 4.0	19 38.0	28 56.0	1 2.0	Class Department College University	4.410	0.581 0.955 0.864 1.018	49 86 2847 22329
3.	I understood how my grades were assigned in this course.	0.0	0.0	2 4.0	15 30.0	32 64.0	1 2.0	Class Department College University	4.515	0.571 0.747 0.784 0.890	49 86 2847 22314
4.	I met or exceeded the course objectives given for this course.	0	1 2.0	4 8.0	16 32.0	28 56.0	1 2.0	Class Department College University	4.337	0.738 0.757 0.824 0.860	49 86 2845 22312
5.	The instructor was available to assist students outside of class.	0	0.0	6	15 30.0	28 56.0	1 2.0	Class Department College University	4.406	0.709 0.698 0.844 0.924	49 86 2845 22297
6.	The instructor provided feedback to me in a timely manner.	0	0.0	2 4.0	16 32.0	31 62.0	1 2.0	Class Department College University	4.311	0.574 0.608 0.947 1.018	49 85 2847 22310
7.	The instructor provided relevant feedback that helped me learn.	0	0.0	5 10.0	14 28.0	30 60.0	1 2.0	Class Department College University	4.344	0.681 0.747 0.923 1.043	49 85 2846 22308
8.	The instructor set and maintained high standards that students must meet.	0	1 2.0	3 6.0	16 32.0	29 58.0	1 2.0	Class Department College University	4.469	0.711 0.784 0.769 0.874	49 85 2843 22303
9.	The physical environment was conducive to learning.	0	2 4.0	4 8.0	14 28.0	29 58.0	1 2.0	Class Department College University	4.422	0.816 0.749 0.875 1.017	49 85 2843 22284

Department Information		Number	of Stu	dents:		Response Key:					
S_Lev: 300 & 400 Level Cours Dept: SOIL SCIENCE		ts Scar	Y	his Levo our Depo		23 87 2866	87 D= Disagree(2)				
Frequencies (top row) and percen S.D. is the Standard Deviation a							each question.				
Please rate the following:	SD	D	N	A	SA	OMIT	AREA	MEAN	S.D.	#R	
 This instructor provided well-defined course objectives. 	1 4.3	0.0	5 21.7	7 30.4	10 43.5	0.0	Class Department College University	4.467	1.041 0.760 0.790 0.900	23 86 2848 22330	
This instructor provided content and materials that were clear and well organized.	3 13.0	2 8.7	3 13.0	5 21.7	10 43.5	0.0	Class Department College University	4.410	1.453 0.955 0.864 1.018	23 86 2847 22329	
3. I understood how my grades were assigned in this course.	1 4.3	1 4.3	1 4.3	9 39.1	11 47.8	0.0	Class Department College University	4.515	1.043 0.747 0.784 0.890	23 86 2847 22314	
4. I met or exceeded the course objectives given for this course.	0	1 4.3	4 17.4	9 39.1	9 39.1	0	Class Department College University	4.337	0.869 0.757 0.824 0.860	23 86 2845 22312	
5. The instructor was available to assist students outside of class.	0	0.0	4 17.4	8 34.8	11 47.8	0	Class Department College University	4.406	0.765 0.698 0.844 0.924	23 86 2845 22297	
 The instructor provided feedback to me in a timely manner. 	0.0	0.0	2 8.7	8 34.8	12 52.2	1 4.3	Class Department College University	4.455 4.553 4.311 4.201	0.671 0.608 0.947 1.018	22 85 2847 22310	
7. The instructor provided relevant feedback that helped me learn.	0.0	14.3	4 17.4	7 30.4	10 43.5	1 4.3	Class Department College University	4.344	0.907 0.747 0.923 1.043	22 85 2846 22308	
8. The instructor set and maintained high standards that students must meet.	0.0	1 4.3	1 4.3	10 43.5	10 43.5	1 4.3	Class Department College University	4.469	0.780 0.784 0.769 0.874	22 85 2843 22303	
9. The physical environment was conducive to learning.	0.0	0.0	2 8.7	9 39.1	11 47.8	1 4.3	Class Department College University	4.422	0.666 0.749 0.875 1.017	22 85 2843 22284	

Department Information	Response Key:										
S_Lev: 600, 700 & 800 Level Dept: SOIL SCIENCE	# Shee		Yo	his Levo our Dep our Col		SA= Strongly Agree(5) A= Agree(4) N= Neutral(3) D= Disagree(2) SD= Strongly Disagree (1)					
Frequencies (top row) and percen S.D. is the Standard Deviation a Please rate the following:							each question.	MEAN	S.D.	#R	
This instructor provided well-defined course objectives.	0 0.0		1 7.1	3 21.4	10 71.4	0.0	Class Department College University	4.643 4.430 4.467	0.633 0.760 0.790 0.900	14 86 2848 22330	
 This instructor provided content and materials that were clear and well organized. 	0.0	0.0	0.0	4 28.6	10 71.4	0.0	Class Department College University	4.410	0.469 0.955 0.864 1.018	14 86 2847 22329	
3. I understood how my grades were assigned in this course.	0	0.0	1 7.1	3 21.4	10 71.4	0.0	Class Department College University	4.515	0.633 0.747 0.784 0.890	14 86 2847 22314	
4. I met or exceeded the course objectives given for this course.	0	0.0	0.0	4 28.6	10 71.4	0.0	Class Department College University	4.337	0.469 0.757 0.824 0.860	14 86 2845 22312	
5. The instructor was available to assist students outside of class.	0	0.0	0.0	3 21.4	11 78.6	0.0	Class Department College University	4.406	0.426 0.698 0.844 0.924	14 86 2845 22297	
6. The instructor provided feedback to me in a timely manner.	0	0.0	1 7.1	4 28.6	9 64.3	0.0	Class Department College University	4.311	0.646 0.608 0.947 1.018	14 85 2847 22310	
7. The instructor provided relevant feedback that helped me learn.	0	0.0	1 7.1	4 28.6	9 64.3	0.0	Class Department College University	4.344	0.646 0.747 0.923 1.043	14 85 2846 22308	
8. The instructor set and maintained high standards that students must meet.	0	1 7.1	3 21.4	5 35.7	5 35.7	0.0	Class Department College University	4.469	0.961 0.784 0.769 0.874	14 85 2843 22303	
9. The physical environment was conducive to learning.	0.0	0.0	1 7.1	3 21.4	10 71.4	0	Class Department College University	4.422	0.633 0.749 0.875 1.017	14 85 2843 22284	

Department Information		Number	of Stud	dents:		Response Key:						
S_Lev: 100 & 200 Level Course Dept: VETERINARY SCIENCE		ets Scar	Y	our Dep	el t lege	SA= Strongly Agree(5) A= Agree(4) N= Neutral(3) D= Disagree(2) SD= Strongly Disagree (1)						
Frequencies (top row) and percents (bottom row) are provided to the right of each question. S.D. is the Standard Deviation and #R is the Number of Valid Responses.												
Please rate the following:	SD	D	N	A	SA	OMIT	AREA	MEAN	S.D.	#R		
 This instructor provided well-defined course objectives. 	1 1.1	4 4.6	8 9.2	34 39.1	40 46.0	0	Class Department College University	4.241 4.321 4.467	0.889 0.852 0.790 0.900	87 265 2848 22330		
 This instructor provided content and materials that were clear and well organized. 	1.1	2 2.3	10 11.5	33 37.9	41 47.1	0.0	Class Department College University	4.410	0.845 0.892 0.864 1.018	87 265 2847 22329		
3. I understood how my grades were assigned in this course.	1 1.1	3 3.4	5 5.7	37 42.5	41 47.1	0	Class Department College University	4.515	0.826 0.792 0.784 0.890	87 265 2847 22314		
 I met or exceeded the course objectives given for this course. 	4 4.6	6 6.9	9	34 39.1	34 39.1	0	Class Department College University	4.337	1.094 1.011 0.824 0.860	87 265 2845 22312		
The instructor was available to assist students outside of class.	3 3.4	2 2.3	18 20.7	29 33.3	35 40.2	0	Class Department College University	4.406	1.011 0.937 0.844 0.924	87 265 2845 22297		
 The instructor provided feedback to me in a timely manner. 	44.6	5 5.7	14 16.1	30 34.5	34 39.1	0.0	Class Department College University	4.311	1.099 0.974 0.947 1.018	87 265 2847 22310		
7. The instructor provided relevant feedback that helped me learn.	3 3.4	4.6	12 13.8	35 40.2	33 37.9	0	Class Department College University	4.344	1.011 0.965 0.923 1.043	87 265 2846 22308		
8. The instructor set and maintained high standards that students must meet.	3 3.4	3 3.4	6.9	35 40.2	40 46.0	0	Class Department College University	4.469	0.970 0.823 0.769 0.874	87 265 2843 22303		
9. The physical environment was conducive to learning.	4 4.6	5 5.7	12 13.8	34 39.1	32 36.8	0	Class Department College University	4.422	1.078 0.982 0.875 1.017	87 265 2843 22284		

Department Information		Number	of Stu	dents:		Response Key:						
S Lev: 300 & 400 Level Course Dept: VETERINARY SCIENCE		# Sheets Scanned: This Level 178 Your Dept 265 Your College 2866						SA= Strongly Agree(5) A= Agree(4) N= Neutral(3) D= Disagree(2) SD= Strongly Disagree (1)				
Frequencies (top row) and percent S.D. is the Standard Deviation an							each question.					
Please rate the following:	SD	D	N	А	SA	OMIT	AREA	MEAN	S.D.	#R		
1. This instructor provided well-defined course objectives.	1 0.6	5 2.8	20 11.2	55 30.9	97 54.5	0	Class Department College University	4.467	0.834 0.852 0.790 0.900	178 265 2848 22330		
2. This instructor provided content and materials that were clear and well organized.	2 1.1	8 4.5	21 11.8	57 32.0	90 50.6	0	Class Department College University	4.410	0.916 0.892 0.864 1.018	178 265 2847 22329		
3. I understood how my grades were assigned in this course.	1 0.6	5 2.8	10 5.6	60 33.7	102 57.3	0	Class Department College University	4.515	0.774 0.792 0.784 0.890	178 265 2847 22314		
4. I met or exceeded the course objectives given for this course.	4 2.2	8 4.5	16 9.0	58 32.6	92 51.7	0	Class Department College University	4.337	0.960 1.011 0.824 0.860	178 265 2845 22312		
5. The instructor was available to assist students outside of class.	3 1.7	5 2.8	16 9.0	57 32.0	97 54.5	0.0	Class Department College University	4.406	0.884 0.937 0.844 0.924	178 265 2845 22297		
6. The instructor provided feedback to me in a timely manner.	4 2.2	2	19 10.7	56 31.5	97 54.5	0.0	Class Department College University	4.311	0.884 0.974 0.947 1.018	178 265 2847 22310		
7. The instructor provided relevant feedback that helped me learn.	3 1.7	8 4.5	18 10.1	58 32.6	91 51.1	0.0	Class Department College University	4.344	0.936 0.965 0.923 1.043	178 265 2846 22308		
8. The instructor set and maintained high standards that students must meet.	1 0.6	2	14 7.9	64 36.0	97 54.5	0.0	Class Department College University	4.469	0.735 0.823 0.769 0.874	178 265 2843 22303		
9. The physical environment was conducive to learning.	3 1.7	5 2.8	23 12.9	53 29.8	94 52.8	0	Class Department College University	4.422	0.917 0.982 0.875 1.017	178 265 2843 22284		